pH and pOH Quiz
(Practice Quiz)









1. What is the pH of a solution with a H3O+ concentration of 8.6 x 10-8 M?  Is it acidic, basic, or neutral?

2. What is the pH of a solution in which the [OH-] = 1.2 x 10-3 M?  Is the solution acidic, basic, or neutral?

3. Which of these solutions is the most basic?
A.  [H+] = 1 x 10-2 M


B.  [H+] = 1 x 10-11 M

C.  [OH-] = 1 x 10-4 M

D.  [OH-] = 1 x 10-13M

4.  If the pH of a solution is 9, what is the concentration of hydroxide?

5.  Determine the pH of the following:


A.  0.50 M HCl  =  



_____________


B.  0.00001 M KOH =


_____________


C.  0.00158 M HBr =



_____________

6.  Which solution has the lower pH value:  0.1M HNO3 or 0.001M HNO3?

